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SÈRIE 1 
 
Primera part 
 
Exercici 1 
Q1  a Q2  b Q3  b Q4  b Q5  a 

 
Exercici 2 

 

a) ܲ(ܴସ) = ܴସ · ଵܫ) +  ଶ)ଶܫ
 ൜ ଵܷ = (ܴଵ + ܴଷ) · ଵܫ + ܴସ · ଵܫ) + ଶ)ଶܷܫ = ܴଶ · ଶܫ + ܴସ · ଵܫ) + (ଶܫ ൠ 	 	⇒		 ൜44,4 = 12 · ଵܫ + 10 · ଵܫ) + ଶ)25,4ܫ = 2 · ଶܫ + 10 · ଵܫ) + (ଶܫ ൠ 			⇒൜44,4 = 22 · ଵܫ + 10 · ଶ25,4ܫ = 10 · ଵܫ + 12 · ଶൠܫ 			⇒ 			 ൜ܫଵ = 1,7	Aܫଶ = 0,7	Aൠ	  
 ܲ(ܴସ) = 10 · (2,4)ଶ = 57,6	W 
 

b) ܲ( ଶܷ) = ଶܷ · ଶܫ = 25,4 · 0,7 = 17,78	W 
c) ܲ( ଵܷ) = ଵܷ · ଵᇱܫ = 44,4 · ସସ,ସଶ = 985,7	W 

d) ܲ(ܴଶ) = ௎ೃమమோమ = ቀ మమశఱ·ଶହ,ସቁమଶ = 26,33	W 
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OPCIÓ A 

Exercici 3 

a) ܺ୐ = 2 · ߨ · ݂ · ܮ = 100 · ߨ · 100 · 10ିଷ = 31,42	Ω	 ܣଵ = ௎௑L = ଶଷ଴ଷଵ,ସଶ = 7,32	A 

b) ܺC = ଵଶ·గ·௙·஼ = ଵଵ଴଴·గ·ଵ଴଴·ଵ଴షల = 31,83	Ω ܣଶ = ௎ටோమା௑Cమ = ଶଷ଴ඥହ଴మାଷଵ,଼ଷమ = 3,88	A 

c) ଵܸ = ܴ · (ଶܣ)ܫ = 50 · 3,88 = 194	V 
d) ଶܸ = ܺC · (ଶܣ)ܫ = 31,83 · 3,88 = 123,5	V 

Exercici 4  

a) η	(%) = 100 · ௉Mec.௉Elèc.
= 100 · ௉Mec.௎·ூ = 100 · ଷସ଴଴଴ସ଻଴·଼଼ = 82,2	% 

b) Pܲèrdues = Eܲlèc. − Mܲec. = ܷ · ܫ − Mܲec. = 470 · 88 − 34000 = 7,36	kW  ܴi = Pܲèrduesܫଶ = 736088ଶ = 0,95	Ω 

c) En condicions nominals:  ܧn = ܷ − ܴi · ܫ = 470 − 0,95 · 88 = 386,4	V 

En les condicions actuals:  ܧ = nܧ · ௡ᇲ௡n = 386,4 ଻ଶ଴଻ସଽ = 371,4	V ܧ = ܷᇱ − ܴi · ᇱܫ = 400 − 0,95 · ᇱܫ = 371,4	V				 ⇒ 						 ᇱܫ = 400 − 371,40,95 = 30,06	A 

Γ	(%) = 100 · ܫ′ܫ = 100 · 30,0688 = 34,16	% 
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OPCIÓ B 

Exercici 3 

a) η(%) = 100 · ௉√ଷ·௎·ூ·ୡ୭ୱఝ = 100 · ସହ଴଴଴√ଷ·ସ଴଴·଻଻,ସ·଴,ଽଵ = 92,22	% 

b) Γ = ௉ఠ = ସହ଴଴଴ଶଽସ଼·మ·ഏలబ = 145,77	Nm 

c) ܲ = √3 · ܷ · ܫ · cos߮ = √3 · 400 · 77,4 · 0,91 = 48,8	kW 

d) ܳ = √ܵଶ − ܲଶ = ට൫√3 · ܷ · ൯ଶܫ − ൫√3 · ܷ · ܫ · cos߮൯ଶ = √3 · ܷ · ܫ · ඥ1 − (cos߮)ଶ ܳ = √3 · 400 · 77,4 · ඥ1 − 0,91ଶ = 22,23	kvar 
e) 400 V 

Exercici 4 

a)  

 

b) ݌(ܦଵ	no	condueix) = ௎మమோ = ଵ଴మହ = 20	W 

c) P(R) > 20 W. Superior, ja que p(D1 condueix) > 20 W 
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SÈRIE 4 
 
Primera part 
 
Exercici 1 
Q1  a Q2  d Q3  c Q4  d Q5  a 

 
Exercici 2 

a) ܺେ = ଵଶ·గ·ହ଴·ହ଴·ଵ଴షల = 63,66	Ω 

ଵܣ = 400√3ටܴଶ + ܺେଶ =
400√3ඥ30ଶ + 63,66ଶ = 3,28	A 

b) ܲ = 3 · ܴ · ଵଶܫ = 3 · 30 · 3,28ଶ = 968,26	W ܳ = 3 · ܺେ · ଵଶܫ = 3 · 63,66 · 3,28ଶ = 2,055	kvar ܵ = √3 · ୟܷୠ · ଵܫ = √3 · 400 · 3,28 = 2,272	kVA ݂݀݌ = ܲܵ = 968,262272 = 0,4262	(capacitiu) 
c) ܣଵ = 3,28	A	i	ܣ୬ = 0	A	per	simetria 
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OPCIÓ A 

Exercici 3 

a) ܫଵ = ௎భ(ೃభశೃమ)·(ೃయశೃర)(ೃభశೃమ)శ(ೃయశೃర) = ଵ଴଴(మళశళయ)·(ఱబశఱబ)(మళశళయ)శ(ఱబశఱబ) = 2	A 

b) ܫோభ = ோయܫ = ூభଶ = 1	A					(ܴଵ + ܴଶ = ܴଷ + ܴସ) 
୊ܸୋ = ୊ܸୌ + ୌܸୋ = ୊ܸୌ − ୋܸୌ = ܴଶ · ଵ2ܫ − ܴସ · ଵ2ܫ = 73 − 50 = 23	V 

c) ୊ܸୌ = ೃమ·ೃరೃమశೃరೃమ·ೃరೃమశೃరା ೃభ·ೃయೃభశೃయ · ଵܷ = ళయ·ఱబళయశఱబళయ·ఱబళయశఱబା మళ·ఱబమళశఱబ · 100 = 62,86	V ܫோభ = ௎భି௏ూౄோభ = ଵ଴଴ି଺ଶ,଼଺ଶ଻ = 1,38	A  ܫோమ = ௏ూౄோమ = ଺ଶ,଼଺଻ଷ = 0,86	A ܫଶ = ோభܫ − ோమܫ = 1,38 − 0,86 = 0,52	A 

Exercici 4 

a) Γ = ݇ · ݇			⇒			ܫ = Γூ = ଺଴଴ଵଶ଴ = 5	 ୒୫୅ ܧ 		 = ݇ · ߱ = 5 · 831 · ଶ·గ଺଴ = 435,1	V 

b) ܷ = ܴ୧ · ܫ + ୧ܴ					⇒					ܧ = ௎ିாூ = ହଶ଴ିସଷହ,ଵଵଶ଴ = 0,71	Ω 

c) η(%) = 100 · ௉೘೐೎.௉೐೗è೎. = 100 · Γ·ఠ௎·ூ = 100 · ଺଴଴·଼ଷଵ·మ·ഏలబହଶ଴·ଵଶ଴ = 83,68	% 

OPCIÓ B 

Exercici 3 

a) ܲ = ܴ · ܫ					⇒					ଶܫ = ට௉ோ = ටଶହ଴ଵ଴ = 5	A 

b) ܼ = ඥܴଶ + (ܺ୐ − ܺେ)ଶ = ඥ10ଶ + (10 − 20)ଶ = 14,14	Ω ܷ = ܼ · ܫ = 14,14 · 5 = 70,7	V 
c) ଵܸ = ܺ୐ · ܫ = 10 · 5 = 50	V 
d) ܳ = (ܺ୐ − ܺେ) · ଶܫ = (10 − 20) · 5ଶ = −250	var 
 

Exercici 4 

a) ܴୣୱ୲୳୤ୟ = ௎౤మ௉ = ଶଷ଴మଵହ଴଴ = 35,27	Ω ܴ୲୰ୟ୫ଵ = ߩ · ଶ·௅ௌ = 0,0179 · ଶ·଺଴ଶ,ହ = 0,8592	Ω ܴ୲୰ୟ୫ଶ = ߩ · ଶ·௅ௌ = 0,0179 · ଶ·ସହଵ,ହ = 1,074	Ω  ܫ = ௎ோ౛౩౪౫౜౗ାோ౪౨౗ౣభାோ౪౨౗ౣమ = ଶଷ଴ଷହ,ଶ଻ା଴,଼ହଽଶାଵ,଴଻ସ = 6,18	A  

b) ୣܷୱ୲୳୤ୟ = ܷ − (ܴ୲୰ୟ୫ଵ + ܴ୲୰ୟ୫ଶ) · ܫ = 230 − (0,8592 + 1,074) · 6,18 = 218,05	V 

c) ∆ ୲ܷ୰ୟ୫ଵ(%) = 100 · ∆௎౪౨౗ౣభ௎ = 100 · ோ౪౨౗ౣభ·ூ௎ = 100 · ଴,଼ହଽଶ·଺,ଵ଼ଶଷ଴ = 2,31	% ∆ ୲ܷ୰ୟ୫ଶ(%) = 100 · ∆௎౪౨౗ౣమ௎ = 100 · ோ౪౨౗ౣమ·ூ௎ = 100 · ଵ,଴଻ସ·଺,ଵ଼ଶଷ଴ = 2,89	%  


